FR2TFESB31EE BFISTHNRFERS

50mP60OM FR27E7TA17TH~20R HEEHEFSENRZES
VBRI | 558 | 81 B2 vk K % S1 S2 S3 S4 S5 S6 &t Hi X
7] 8 BALEZ=EFI [103.0[102.7[101.3[102.9[102.4]101.9[614.2
1121] 9 REBE BEE @ |100.5]103.0[102.1]103.0[101.2[103.4]613.2|1,840.4| 88
20| 7 B 54%= ]101.2[101.7]103.2[103.8[102.4]100.7|]613.0
8]5 F2 =th| 98.1[102.8]103.5[/103.5[105.0|105.8|618.7
21715 FITe55 &M Mt [100.6[103.1(103.7(101.0(103.2(101.2/612.81,839.1| 93
15] 2 dft ZE | 99.8[101.5[104.9]100.5[102.7| 98.2]607.6
14| 9 #  #—1102.9[104.9[100.7]103.8|102.0105.1 |619.4
3]13]16 70yy g =x|101.2(101.6[104.8[102.0| 99.8|103.0|612.4|1,837.8| 87
317 mE #E| 98.4[102.8[102.8[100.4[101.4]100.2 |606.0
18] 3 £k % [102.0[104.0[102.9[104.6 [103.3][101.6|618.4
4 [16] 2 AAA. R % [103.0[100.2|102.3|104.1[100.7|103.0/613.3]1,837.0] 89
18] 11 s %2 [100.5[101.6 [100.8[101.1 [ 99.4[101.9]605.3
12| 8 mE M [102.5]102.5]102.5[103.9|102.8|103.8618.0
51716 #Z)11SC Z@E =[101.7[101.1[102.2|101.1| 99.9|102.6|608.6|1,831.3| 81
19] 12 E#E =—1101.9[101.2] 98.6[102.4[101.3] 99.3|604.7
5]16 E8 f@s |102.3[102.6[103.0[104.2|102.6[102.7]617.4
6 |19] 5 Back Fire #iL #% |102.3[101.6[103.0[100.8[101.3|101.7]610.7]1,827.9] 76
14| 2 it #m | 97.0] 99.5[/100.2[100.3[102.4[100.4[599.8
1] 4 ¥k BAZE [101.7[103.0[102.3]103.8|102.8102.2|615.8
7118]| 4 By kA (i A+t #%8 [100.2{100.8(103.1 [{100.9|101.1[101.6|607.7|1822.2| 72
10] 6 kB ] 96.2[101.1[100.5[100.1 | 99.9]100.9 [598.7
8|9 gilE #A[101.5] 99.8[101.0[104.9[101.5]100.9|609.6
8 117] 7 |F—AFUJHRA| & & [102.1[102.2]102.9| 99.2[102.9| 98.3|607.6|1822.0| 78
11] 9 #mE  #] 99.1[102.5[101.6] 98.1| 99.8/103.7 |604.8
14| 3 E# #X[103.7[100.7]103.2[101.7[102.5]102.7 [614.5
9120] 8 WE =#E #x[103.1] 99.0| 99.7[100.3[100.9]100.7 |603.7|1818.9| 77
19] 6 ) E—| 98.8[101.8[102.6] 96.6[101.5] 99.4[600.7
20| 2 #MA #%% [100.8[101.0[101.1[101.1[102.6]102.5[609.1
10]112] 5 |KHVoF—F—| WA E% |100.4[101.5[102.0(102.8[100.9100.3607.9|1817.2| 65
18] 5 AB B [100.7[100.9] 99.1[100.8] 99.2| 99.5|600.2
15| 4 B 4 [103.2101.4[104.0[101.1 [101.4[102.0 [613.1
11]113] 4 ETHES #MA %8 [100.3(102.5[100.7 [100.9 [102.0]| 99.7|606.1|1815.6 | 71
14| 4 EEEE 96.9/100.6 | 98.8[102.2| 99.5| 98.4[596.4
10] 3 Hep {52 [101.4[103.1 [101.6] 99.7[101.4| 99.0]606.2
12]20] 4 rk—Fwk WEEFIE [101.0[102.7100.4 [100.4[101.4| 99.4|605.3|1812.4| 72
11] 3 £ =8| 98.3[100.4] 98.9[100.9[101.8]100.6 [600.9
719 X 188 [102.4 | 99.8]100.9[101.2[100.7 | 98.5[603.5
131 1 |16| F—ASOS |# +7#]100.3[101.2| 99.6[101.1[100.1| 97.1[599.4|1800.3 | 59
13] 3 Hee  #]101.3[101.5] 97.5[102.0| 96.1| 99.0]597.4
10] 2 B #4]101.5] 99.0[101.2[100.5[102.7 |100.4 [605.3
14110 8| A—=)BXK |&N #n]| 99.8[101.4| 95.8[102.0| 99.8| 99.7|598.5|1797.1| 58
21| 4 ME mHE | 99.8] 95.9[101.0] 99.2] 98.9| 98.5[593.3
18] 6 %t R [101.3[102.3]100.2|103.1[103.5]100.6|611.0
151 16| 6 |vzxez5170057| @R 88| 98.2[102.0[100.3| 99.4| 99.0[101.3[600.2|1793.2| 55
17| 6 A &]101.1] 99.1] 96.5] 91.7| 97.9] 95.7]582.0
20| 6 " 15| 99.4[104.1 [100.9{104.3100.4| 98.9]608.0
16[21] 6 NRT # = [100.8| 99.0[102.1[103.2[100.5]100.6 [606.2|1792.5| 65
15| 6 hEmEE | 99.0] 98.5] 94.0| 96.6| 94.3| 95.9|578.3
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& | & 8% | 8 e vk K % S1 S2 S3 S4 S5 S6 &t Hi X
717 a5 B[ 98.7(101.7[102.9[102.1 | 98.9[101.6[605.9
171817 AY—FZ |\ #x]| 97.4|100.4[102.0| 98.4| 97.5| 97.5]593.2]1792.1| 53
13| 7 A# BE| 97.8] 97.7] 98.1 99.8| 97.7[101.9]593.0
8] 8 ZfRE1HEA [102.0[102.6 [101.6[100.4| 99.9[101.9 |608.4
18121 3 AE E&)IIE—[100.4 [100.5| 98.9({102.9{101.9| 99.5|604.1|1788.8| 51
2 |16 #ZIh #F| 91.6| 97.3[100.1| 97.7| 90.9| 98.7[576.3
4116 AABR & | 98.6[100.9| 98.9]101.5[102.1]102.2 [604.2
19 2 |15 |A—IVKsa1~—| BB =—| 99.3| 98.6(100.4| 97.2| 99.3[101.3|596.1|1782.1| 58
3 |15 =# #fE| 98.2] 96.9| 96.6| 96.3| 98.7] 95.1]581.8
13] 6 #WH 7w ]102.3[103.6| 99.1[101.8[101.0[100.6 |608.4
20| 14| 6 |wEESs7Ls57| £ B | 98.2| 99.5(100.7| 99.4| 99.8{101.4|599.0|1781.7 | 48
12] 9 +E BBE| 98.9] 98.4| 92.7| 92.1| 95.5| 96.7|574.3
10| 4 HWW #% [102.5[100.1]100.8100.9| 99.2]101.5|605.0
21118 12 |7nvx7154o0057| B FH-| 98.3[100.8| 98.8| 96.5| 97.6| 95.8|587.8]|1776.7 | 53
16| 5 mE AN| 98.4] 95.6| 97.3] 98.0| 97.2| 97.4]583.9
18] 8 =B ¥[101.5[101.3]102.7] 99.1| 99.4| 95.8]599.8
22113]| 8 | 779—77«47 | @ &= | 99.8| 96.7[100.1| 97.9[101.5[101.8|597.8|1776.5| 48
14| 8 wnAx #mE| 954 959 99.8| 97.2]| 92.8| 97.8[578.9
71| 2 HE A& [101.1] 99.9[101.4[101.1 [102.5[100.0 |606.0
23112 2 (RYAY = BE &=t [102.3(102.6| 98.5[/100.4| 93.2| 97.8|594.8|1775.2| 54
8] 2 #kiEE x| 96.9] 91.1] 94.4| 98.6[101.9| 91.5|574.4
9| 7 e x| 97.9[100.3| 99.3] 98.9| 98.9| 98.3[593.6
24|16 4 FEF ma =¥ [100.7| 98.9| 99.3[ 97.4| 94.8]100.7[591.8|1773.3 | 41
20| 5 e m®2| 97.9| 98.0] 96.8[100.4| 99.3]| 95.5|587.9
19| 4 =& X# [100.6[102.7[100.0| 98.5[100.4[101.1|603.3
25112 3 =gt A &4+ [101.4] 98.6[101.0| 99.5| 98.8[102.0[601.3]1772.9| 46
12| 7 ZR #E%| 95.6| 96.7| 929 92.8] 95.0| 95.3]568.3
19| 3 )l #%E [102.5[104.3(102.1]101.6[102.4[101.5[614.4
2615 9 | &pechmpk | #E || 91.5| 91.2| 94.0| 98.5| 94.4| 95.6|565.2|1733.9| 44
19| 11 s BE| 92.2| 88.6] 92.7| 92.1] 96.5| 92.2|554.3
15] 3 hig &z | 98.5[100.8| 97.0| 99.0| 98.0[102.0]595.3
271201 3 bBsA ME HWE| 96.5| 94.6| 96.5| 94.8| 96.4| 96.6|575.4|1704.5| 24
13| 2 A% mx| 76.4| 88.5] 92.0[ 92.6| 92.3] 92.0[533.8
18] 2 M B [100.3| 96.3] 98.5| 94.9| 96.2| 94.0[580.2
28| 17| 8 R#ARAL | mEE BEAR| 90.5| 92.6| 98.1| 89.7| 93.3| 97.2|561.4]|1141.6 | 24
12] 6 Fil 8ER
81 4 AFE f@—| 93.7| 96.6| 92.5| 92.5| 88.1| 90.0|553.4
29115] 5| ZUXU—R.C. | BF &% 553.4 | 4
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